Three Rubber Bands	


Use the geometry software supplied with this packet to do this problem.


Start with a frame in the shape of an equilateral triangle. Imagine a rubber band attached to each vertex and stretched so that it is connected to a point on the opposite side of the triangular frame (see diagram)
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a fraction of the distance x along its length. We are interested in how the area and perimeter of the triangle formed by the three rubber bands are related to the area and perimeter of the original triangle.


Here are some things that we know:


When x = 0 and x = 1 the rubber band triangle is the same as the original triangle and thus its area and perimeter are the same as those of the original triangle.


When x = 1/2 the three rubber bands meet at a point. Thus the area and perimeter of the rubber band triangle vanish.


Explore the two quantities


	AREArubber band / AREAoriginal  and  PERIMETERrubber band / PERIMETERoriginal


as functions of x.


Explore how these functions change when the original frame is isosceles and scalene.
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